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Name ______________________________

Short answer questions/problems

1.  If markets are efficient, why will investment produce higher returns than speculation?
2.  How will investor behavior differ between a market that is efficient and one that is economically efficient (as defined in class)?

3.  List (but do not discuss) the reasons that making capital budgeting decisions using projects’ payback period may lead to suboptimal decisions from the stockholder’s perspective.

For questions 4 and 5 assume the firm with a marginal tax rate of 35% is considering building a new factory.  In both questions, calculate the impact on net, after-tax cash flows a year from today for each piece of information.  In your answers, use a “+” to indicate an increase in incremental, after-tax cash flows and a “-“ to indicate a decrease in incremental after-tax cash flows.

4.  The firm has just signed a contract with an industrial maintenance firm to clean the factory floor every day between shift changes at midnight.  The contract calls for your firm to pay a year in advance.  Thus, today your firm has paid $20,000 for the coming year’s contract.  A year from today, the 2nd payment of $20,000 is due which will cover the 2nd year of maintenance.  The contract may be cancelled if your firm gives the maintenance firm at least 3 months of warning that it plans to cancel the contract.  However, in the event a contract is cancelled, no prepayments will be refunded.
5.  If the factory is built, the firm’s net working capital will immediately increase from $1,500,000 (at existing facilities) to $1,800,000.  In addition, the firm’s net working capital a year from today will increase from an expected $1,600,000 (at existing facilities) to $1,950,000.    Two years from today, the firm’s net working capital is expected to increase from an expected $1,650,000 (at existing facilities) to $2,050,000.  

6.  Briefly discuss the conditions under which you might prefer to estimate the beta of a project your firm is considering by calculating the average beta of securities issued by other firms?

7.  What is an unsecured bond called?
8.  In a rights offering, who has the first chance to buy newly issued shares of common stock?
9.  Assume you own stock in a firm that has just announced a significant change in its capital structure.  If you do nothing, you estimate that your risk has just fallen.  What kind of change has the firm announced?
10.  What evidence do we have from the business world that conflicts of interest do in fact exist between stockholders and bondholders?
Problems/Essays

1.  Harry Two Inc. is considering investing $2,000,000 to build a new broom factory.  Harry estimates that the beta of this factory will be 0.85 and that the standard deviation of returns will be 40%.  This is slightly higher than the beta and standard deviation of Harry’s existing assets, 0.73 and 38% respectively.  If built, the factory is expected to generate $150,000 of net cash flow per year forever beginning two years from today.  However, if the factory fails to live up to expectations, it can be sold to Muggle Inc. for $1,750,000 at any time over the next 5 years.  The risk-free rate (all APRs assuming continuous compounding) depends on maturity as follows:  1-month = 1.17%, 1-year = 1.41%, 5-year = 2.89%, 10-year = 4.50%.  How will building the factory affect the value of Harry Two Inc. if the expected return on the market is 8.5%?  Should Harry build the factory?

Exam III; F5360; Fall, 2002; page 2 of 2

2.  Assume you wanted to convince your roommate that markets are not efficient.  What evidence would you cite?
3.  Under the current tax code, the federal government allows firms to use current losses to offset past profits and/or future profits.  As a result, if a firm has a loss this year, they can get back taxes paid during previous 2 years. If the firm’s loss in the current period exceed the combined profit for the past 2 years, then the firm can use the loss to offset future profits over the next 20 years and thus pay no income taxes in these future years.  Assume that the federal government were to eliminate loss carryforwards and carrybacks.  As a result, firms could not get back taxes paid in previous years if you have a loss today and firms could not eliminate future tax liabilities by offsetting future profits with today’s losses.  Given our discussion in class, discuss and show graphically how this change in tax law would impact:  a)  the optimal total amount of debt in the economy, b) the marginal investor’s equilibrium tax rate, c)  the optimal amount of debt for a firm with high, stable profits, and d) the optimal amount of debt for a firm with low, volatile profits.

